MEgd s

Prosent av tall (manglende tall)

StudentName:

x 80% = 12
x 10% = 0.3
x 10% = 9.3
x 30% =27.9
x90% = 11.7
x 30% = 3.6
x 70% = 58.1
x 50% =4

x 30% = 30
x 30% = 27
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ExamDate:

x 10% = 8.9
x70% = 31.5
x30% =2.4
x 90% = 73.8
x70% = 12.6
x 20% =1

x 10% = 0.3
x 80% =72

x 50% = 39.5
x 80% =12

ExamScore:
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Bl 4

Prosent av tall (manglende tall)

StudentName:

15 x80% = 12

3x10% = 0.3

93 x10% = 9.3

93 x30% = 27.9

13 x90% = 11.7

12 x30% = 3.6

83 x70% = 58.1

8x50% =4

100 x 30% = 30

90 x 30% = 27

ExamDate: ExamScore:

89 x 10% = 8.9

45 x70% = 31.5

8x30% =24

82 x90% = 73.8

18 x70% = 12.6

5x20% =1

3x10%=0.3

90 x 80% = 72

79 x 50% = 39.5

15 x80% = 12
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